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RERRSMSIE B D P it
77 )V o e N iR 9.3 [ m2
=T 1.0 | =X
AW-1
7L X BT o R R A S ER W3400%H1685 2.0 |7 7t
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A <

] N B, N
2 R s | | H fii | 4 |
(A (H) (M)
AW-2
7V X BT v M S A 5 E R F IX AR W3400%H2525 1.0 |7 P
Bufr 1.0 | X
TEHR 1.0 | =X
WA Rh—=AA T A
J56. 8 4.8 | m2
Ja— M7 A
JE5. 0 15.3 [ m2
HIZ—V 7 (W) 96.5 | m
RENH VAT 0.5 | m2
A-2-1-1-2-3




]

] N | H N
N 5 N == filli | 4= |
(A (M) (M)
A-2-1-1-3| & Pk ek(E T
(BE)
IKPEVY i EKBERE N ) 15MPRR EE 294.0 [ m2
BERX B KA B iE 121.0 | m2
AR LV G 121.0 | m2
AN BT LX)V T RS N OVA) B i EE 121.0 | m2
AREHEZARFTRAY ~—& A MBS
1. 6kg/m?2 121.0 | m2
T AR URARY v —8 A A
0. 8kg/m?2 149.0 | m2
M EYD KR URARY v —8 A N B
0. 8kg/m?2 24.0 | m2
BRI L iR 5.0 | P
SUEH R L ERER S 100 ¢ 5.0 |7 Hr
Bl 285 — e A 20.0 |+ At
Ao A A Bt A LA 6.0 |~ P

i
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]

No, 92

] N I H N
N 5 N == filli | 4= |
(A (H) (M)
i
v U A IR K &R i LA 240.0 | m2
(i UpE:»
U L H GBI KR A T iEX-2 29.3 [ m2
AV /- ¥
v L& BB K A TIEX-2 24.0 | m2
NGl 5.0 |7 Pt
(RZ U H)
IKPEVY i EKBERE N 15MPRR EE 48.5 | m2
BETRFVERY ~—8 X N
0. 8kg/m?2 48.5 | m2
BERR K L i 1.0 |7 A
QUEHR R L U BiERRS 100 ¢ 1.0 [#Fr
5
v U A GBI K i &R B X1 36.4 | m2
TR
v L& BRI K A TiEX-2 5.5 | m2
SR - R
v L& BRI K A TiEX-2 6.6 | m2
Gl 1.0 |77




AR

B
AN 7 g = fillh | 4 | H4

A (M) (M)

Bl 52 B 0 3R/ INER AR 6.0 |7 T

(RDEIR)

IKPEVY i EKBERE N ) 15MPRR EE 2.0 | m2

RHTRFVRRY ~—& X NEA

0. 8kg/m2 2.0 | m2

R

U L & I K A TiEX-2 2.0 | m2

A-2-1-1-3-3

i
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A <

B B, .
N 5 N = B filli | 4= |
A (1) (M)
A-2-1-1-4|# 2 T 5

REIVH VA aTIE 0.5 | m2
6 b 2 — At 4.3 | m
7LV 2 B 23.6 | m2
H T Ak 27.7 | m2

A-2-1-1-4-3




AR

N w 5 =<k i | 4 B 4
A (M) (M)
B-2 | H:BGREE Ey

7 a A4 — FW=6. 0mH=1. 8m 1.0 |7 P
WA SN B PHH=1. 8m 89.7 | m
T AP =22 104.0 | m2
AR B 18.0 | A
B-2-7
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A <

A N i | 4 |
A (1) (1)

R LGy B

PEMAL 5 2 (U L 2545) 2.3 | m3

FEMWLE (27 ) — D 9.4 | m3

PEM AL B (B JE ) 1.4 | m3

FEM A B (BET T AT v 7 FH) 1.3 [ m3

ML 8 (T Z 25) 0.2 | m3

PEM AL B (R < 3D 0.2 | m3

PEM AL (R — R 0.7 | m3

BEM ALy B (7 A7 7 )L b &) 14.1 [ m3

B3 Ty 109.0 | m3

D-7




